¢ 20254 28 ) F)IEBESHE  TEL850—3730

& |
1123/ 4[5|6|7|819/(10|11]12][13[14]|15]16|17|18|19]|20[21]22]23]24]2526]27] 28
B B Y= B AlXxIKRIRI& L]B|A| kAR K|$|t|B[A XK KkIXK[E[E[BIA[XM]K][X[£][XIBIB XK [X[&
% 1 B= 173 73 73 73
1 B | 5 25% | L5 B B B
9:30 g IN=E = =] H H
E LR 3
ERETE 2 D -TO[@ T 71809 0] [@L-T@[ G 1@ 6 718
2 BB | B ox=
1030 [ & s&=
¥ 4%= -
R = Bl [BTFE(a[5[HK[6] RO D REI® [2[=Zls3l4(=x5] [DE@DEEH
3 B | ¥ 282
11:30 £ 3=
B4 =
P £ 1 5= @ B A] [B@EE @A 2143 [® A [B@E GG A 9 10] 2 |9
FE
1330 [ & s&= @ 1@ @ @ 2 @] [@ @ @] [@ @
E 4 5= .
o FE () ®K2 [7]G0 8o @K2 [@ @@ a2 [6la 7] MK?2 [EEOEm
6 F 2HE
1430 [ & 3u= [©) 3 ® 3 ©) ® [©) ® ® ® ® ®
L |
P FRE 1 D@ @[a] 1 RS RN DD ®[A] 1 7110|234
7 ENPE €
1530 | & s%= @ @ @ @ @ @ @ @ @ @ @ @
B I%E |
EEEEE B E PN EIES B EIREPNEINAEI R (N EIPNEIGIEI B EIRRIPN 9 [ Z| [EIO@ATZE[GD
8 B [ 8 2= :
16:40 | & 3%= ® @ @) @ @ @ @
FE e _
FIRE E K2 @D K2[aD[aD 4 5[K2[ 67 (@D ®K2[@] 0] 304 [K2[56
9 BBy | B 2%=
17:40 [ 3Zm= )] BhE €) @7@: )] ©) ©) ©)
4 BT,
PR 1 9(10[ 123 @@1:%@ 819 1[10]2 (@[] 1 @[
10 BB | % 2%= |
1840 [ & 3%= @ : @ @ @ @ @ @
EXr=S
¥ OIBRRE—-1065R <CRBEOBMBEHEESTT > ¥ 2EFE—1665R <EHOBREEILHBERESTT >
gugs 1 2| a|lals]e|7]s] of gzg=| 0|0 |0 |@|o|e|o|e|o]|e|ole|l o] o |e|le
HE ]| @|@[@[@ |66 @] @ | @00 an{i2:13)(14-15] (16) | (17)
B Al M@]| 3] @] ®|5-7] 0 9-10r11-1213-14
* 88 (k) TEBH( K - & ) 8:50 ~ KR (AR TFHE( A-KR-+ ) 9:00~ BB K H13:15~ (F)9:00~
SRAKS1BRBOFHRUREEZETL. DENCEA B M0 2B EIRELEE  SRAK>BEBOSH RERURMTEEEETL. HRkIEaEA QREL) £2E U FIREL-#
B A = HIAETIETREEICREEEN, B A= AEECICAERTERICREERY,
XAV 2B BRI ZESBRAEREZ T TTFEL, M2BRBEDIE HEEHE (2-1) QA EhE(EYMIBICH->TEY, BB TR AN TEE A

MEBRFRIZETNTA2EU LOEERQ0RU L) EFWMOENEER - FROBANTEE A, X FH QAR FI3HBEENLRTE LH->THYET. EFH(EIRVER)



